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And I could say; like water which is poured on the ram

Overview

The X713 explained that the reason 07 is 7X172 2N (according to AR M) is
because the 770 compares 2°n% 07 (in the 05 119WN PRI YV P10D); just as
Q7 1S X172 M the same is true by a7. The X713 challenges this explanation
and asks that perhaps the 0°» in this P05 is referring to the 2°» which was
poured 11217277 A"y (on M20), which is X172 MOK. It seems that the X3 is
suggesting that we derive from this comparison (of 27 to 1">0°17 o’») that 07
should be ;%372 Mox." Our Moo rejects this explanation.
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The X713 is not suggesting that we should derive from this wp>71 that blood
should be 1R372 710K; for this X177 MoK is self understood, for we derive it

from ®28> X% (which means an 737 M0°X according to 172K ).
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But rather the X7 means (when it asked 2°50°177 0°%2 X»°X)) that from the
wp>n of 21 07, one cannot derive that 07 is INI72 "N,

Summary
The question of 1D0°17 2°n> X2°X) means that we cannot use the wp'i to

derive RaT N°o.

Thinking it over
Why cannot we say that the question 1720177 0°%2 X°X1 is a question on PRI,
that 07 should be nx372 MOXR?!?

' The difficulty with this explanation is that we do not need a P10 for X371 MO°X; we know it already from
1728n X7. The P09 seemingly can only teach us 7X17 107, See following footnote # 2.

% The various Mmoo *5¥2 explain that the 7109 of 0> 1129Wn is necessary (even if we assume 1°20°177 0°1D)
to teach us that (only 171 07 is X2 22p% WM because it is %3 oW1 but) 2°WIP 0T is not 1WA (see MY
'2). However 1728 " maintains that since there is a Wp>1 of 0°»% a7 it should teach us 7837 07 as well. The
X3 responds that perhaps the 0> is referring to 1"30°17 0°» which are X372 17108 and there is no wp*n
an’19, so the initial X317 MO°X from 19580 R? remains. See 121 A0 WX ,°"10 ,(TRT) R"wnn.

? See n'"vx.
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